M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE29%6H1H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

L2956 H2H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

L2946 H3H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE29%6H4H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

2956 H5H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

L2956 H6H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE29%6HT7H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

L2956 H8H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE29%6H9H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 = jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 = KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F6 A 10H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F6 A 11H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F6 A 12H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F6 A 13H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F6 A 14H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F6 A 15H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F6 A 16H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F6 A 17H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F6 A 18H
FFZl um M= J& ] JEE H ERRFRE i KUt
i °Cc mm 1651 m/’s h % hPa
1 kokok *okok * % % *kkok *okok *okok koK
2 kokok koK * % % *kkok *okok koK koK
3 *okok *okok * % % *kkok *okok *okok koK
4 kokok koK * % % *kkok koK koK koK
5 *okok *okok * % % *kkok *okok *okok koK
6 *okok *okok * % % *kkok koK koK koK
7 kokok *okok * % % *kkok *okok *okok koK
8 *okok *okok * % % *kkok koK koK koK
9 *okok *okok * % % *kkok *okok *okok koK
10 KKk KKk * * % KKk KKk KoKk KoKk
11 KKk KKk * * % KoKk KoKk kK KoKk
12 KKk KKk * * % KKk KKk KoKk *okok
13 *okok *okok * % % *kkok *okok koK koK
14 KKk KKk * * % KKk KKk kK *okok
15 *okok *okok * % % *kkok koK *okok koK
16 *okok *okok * % % *kkok *okok *okok koK
17 kokok koK * % % *kkok koK *okok koK
18 *okok *okok * % % *kkok *okok *okok koK
19 koK koK * % % *kkok koK *okok koK
20 KKk KKk * * % KKk KoKk kK *okok
21 KKk KKk * * % KKk KoKk kK *okok
22 KKk KKk * * % KoKk KoKk kK *okok
23 *okok *okok * % % *kkok *okok *okok koK
24 KKk KKk * * % KoKk KoKk kK *okok
HzX 0.0 0.0 0.0 0 0.0
Hex/ 0.0 0.0 0.0 0 0.0
H¥EH Kook Kook Kook Kook
aat 0.0 0.00
BEgAaT—42 MDE * * *
H$EFEAH °C HEFEAH °C
= "‘@’,—r_‘,;’ﬂ H13.6.5 36.1 brd jB_{,;—:‘\;E H20.2.17 17.7
£EFHH hPa £EFHH hPa
i‘@‘ﬁ& H5.3.22 1024.5 bd jB_{,;—ﬁE H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
A HME H10.11.26 212.5 4 KELE H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

T RE294F6 A 19H
FFZl i@ M= J& ] JEE H ERRFRE B st
i °Cc mm 1651 m/’s h % hPa
1 *okk *okok * % * *okok *okok *okok *okok
2 *okk *okok * % * *okok *okok *okok *okok
3 *okk *okok * % * *okok *okok *okok *okok
4 *okk *okok * % * *okok *okok *okok *okok
5 *okk *okok * % * *okok *okok *okok *okok
6 *okok *okok * % * *okok *okok *okok *okok
7 *okk *okok * % * *okok *okok *okok *okok
8 *okok *okok * % * *okok *okok *okok *okok
9 *okok *okok * % * *okok *okok *okok *okok
10 *kokok KKk * % %k KKk KKk KoKk *kkok
11 33.0 0.0 Jtit#E 2.1 1.00 62 1010.1
12 334 0.0 b4 1.4 1.00 60 1009.8
13 325 0.0 Jtdt 1.7 1.00 63 1009.5
14 304 0.0 Jt 3.3 1.00 68 1009.3
15 31.3 0.0 Jt 2.6 1.00 66 1009.0
16 32.3 0.0 - 4.1 1.00 60 1008.9
17 31.8 0.0 = 46 1.00 61 1008.9
18 30.2 0.0 = 52 0.50 73 1009.2
19 29.4 0.0 = 55 0.00 78 1009.5
20 294 0.0 = 45 0.00 75 1009.9
21 29.3 0.0 = 49 0.00 78 1010.4
22 29.6 0.0 = 3.8 0.00 73 1010.7
23 29.4 0.0 HE R 59 0.00 75 1010.7
24 29.3 0.0 HE R 48 0.00 80 1010.5
H&X 334 0.0 59 80 1010.7
Hex/ 29.3 0.0 1.4 60 1008.9
H¥E15 30.8 3.9 69 1009.7
aat 0.0 7.50
BEgAaT—42 MDE * * *
EREHH] C EREAA] C
xEFxE | H13.65 36.1 XESE | H202.17 17.7
AEFHAB|] hPa AHEFHAB|] hPa
| XERE H5.3.22 1024.5 XESE | H14.11.24 936.7
FEEHH] mm/day $EFEHAH m/s
= AHFE H10.11.26 212.5 AR H17.9.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

2946 H20H
Bl Kz = =N JAE B B2 R R TEE KUE
i °C mm 165 1iL m./'s h % hPa
1 294 0.0 EXk 46 0.00 76 1009.5
7 295 0.0 EXb 47 0.00 76 1009.5
3 294 0.0 EXk 35 0.00 79 1009.5
4 28.3 25 G 2.1 0.00 87 1009.2
5 28.9 0.0 HEm 33 0.00 80 1009.5
6 26.6 15 L= 37 0.00 92 1009.9
7 28.5 0.0 ] 43 0.00 74 1010.4
8 29.6 0.0 HmR 22 017 71 1010.4
9 — — * ok — — — —
10 i i X ok %k i i i i
11 315 — [ 48 — 68 1010.4
12 31.9 0.0 [ 35 1.00 68 1009.8
13 315 0.0 HEm 34 1.00 68 1009.5
14 31.7 0.0 EXb 23 1.00 68 1009.0
15 28.8 05 L= 12 0.83 76 1008.7
16 31.0 0.0 - 40 0.92 69 1008.6
17 30.2 0.0 4 45 0.93 72 1009.0
18 30.0 0.0 B 43 0.65 74 1009.2
19 30.0 0.0 EXak 46 0.00 72 1010.1
20 29.3 0.0 EXb 6.6 0.00 76 1010.7
21 29.1 0.0 i 42 0.00 77 1011.0
7 27.8 40 ] 19 0.00 79 1011.6
23 28.9 0.0 [ 49 0.00 77 1011.3
24 28.0 0.0 EXb 7.3 0.00 79 1011.1
HEX 31.9 40 73 92 1011.6
B/ 26.6 0.0 12 68 1008.6
H¥E 29.5 39 75 1009.9
=111 8.5 6.50
BEEEAT—4 IS * * *
E&EEHH °C EEEHH °C
BEE52 | HI3.65 36.1 S2ESE [ H20.2.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
SABFE HI0.11.26 2125 BARE | HI79.2 55.2
ATF—A[%. $63.9.25~H26.12.31 DHARZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

ER295E6H21H
FEZ| Kz = =N JEBES B B2 R R TEE KUE
i °C mm 165 1iL m./'s h % hPa
1 27.9 0.0 [ 6.5 0.00 78 1010.7
2 28.0 0.0 HEm 5.1 0.00 75 1010.4
3 27.7 0.0 HEs 42 0.00 81 1009.8
4 27.9 0.0 HEs 38 0.00 80 1009.9
5 28.3 0.0 HEs 45 0.00 78 1010.4
6 28.6 0.0 HEs 3.1 0.05 78 1010.7
7 29.1 0.0 [ 33 0.93 74 1011.0
8 29.6 0.0 [ 36 1.00 71 1011.3
9 30.1 0.0 HEm 35 1.00 74 1011.3
10 30.3 0.0 B 37 1.00 74 1011.4
11 30.7 0.0 HEm 38 0.98 70 1011.7
12 30.9 0.0 HEs 33 1.00 72 1011.3
13 31.1 0.0 HEs 43 1.00 68 1011.0
14 314 0.0 HEs 41 1.00 67 1010.5
15 31.2 0.0 HEs 45 1.00 70 1010.4
16 31.2 0.0 - 48 0.97 70 1010.2
17 31.0 0.0 HEm 6.3 0.95 69 1010.4
18 30.4 0.0 HEs 6.4 0.78 71 1010.8
19 29.9 0.0 HEs 6.9 0.07 74 1011.6
20 29.8 0.0 B s 83 0.00 74 1012.0
21 29.7 0.0 B s 838 0.00 78 1012.5
22 29.3 0.0 [ 94 0.00 77 1012.5
23 29.3 0.0 [ 77 0.00 75 1012.8
24 28.8 0.0 Gk 6.9 0.00 81 1012.3
HEX 314 0.0 94 81 1012.8
Hi/ 27.7 0.0 3.1 67 1009.8
H¥EH 29.7 53 74 1011.1
=111 0.0 11.73
BEgAaT—42
SEFEAH °C EfEEHH °C
BEE52 | HI3.65 36.1 BIESE | H202.17 17.7
H$EFEAH hPa H$EFEAH hPa
| RESFE | H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
S AERE H10.11.26 2125 BARE | HI79.2 55.2
ATF—A[%. $63.9.25~H26.12.31 DHARZ M ZIZLTLVET,




M/REGF/MNIVR) KRBT

t#g:20F25% HEX:136E05%

2946 A22H
Bl Kz WE =N JAE B B2 R R TEE K[UE
i °C mm 165 1iL m./'s h % hPa
1 28.9 0.0 G 8.0 0.00 76 1012.2
2 28.6 0.0 mR 5.7 0.00 77 1011.7
3 28.6 0.0 Gk 34 0.00 75 1011.3
4 285 0.0 R 3.7 0.00 77 1011.6
5 28.6 0.0 HEm 3.1 0.00 76 1011.7
6 29.0 0.0 EXb 2.8 017 76 1012.2
7 295 0.0 EXk 35 0.98 72 1012.3
8 29.9 0.0 HEs 438 0.88 72 1012.8
9 30.5 0.0 EXk 5.1 1.00 71 1012.6
10 30.9 0.0 HEs 6.3 1.00 67 1012.3
11 31.0 0.0 EXk 55 1.00 68 1012.3
12 30.9 0.0 HEs 6.3 1.00 68 1011.9
13 30.7 0.0 EXb 54 1.00 72 1011.6
14 i i X ok %k i i i i
15 — — * kK — — — —
16 — — * kK — — — —
17 — — * kK — — — —
18 — — * kK — — — —
19 — — * kK — — — —
20 — — * kK — — — —
21 — — * kK — — — —
22 — — * kK — — — —
23 — — * kK — — — —
24 — — * kK — — — —
H&xX 31.0 0.0 8.0 77 1012.8
B/ 285 0.0 2.8 67 1011.3
B 29.7 49 73 1012.0
=111 0.0 7.03
BEEEAT—4 IS * * *
E&EEHH °C EEEHH °C
BEE52 | HI3.65 36.1 S2ESE [ H20.2.17 17.7
H$EFEAH hPa H$EFEAH hPa
| EE&F [ H53.22 10245 BIESE [ H14.11.24 936.7
HE#EFEHH|] mm/day £EFEFAH mSs
SABFE HI0.11.26 2125 BARE | HI79.2 55.2
AT—AIL, $63.9.25~H26.12.31 DEAREE A RIZLTLET ,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
2946 H23H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 293 0.0 B 6.1 * % % 78 1011.7
2 29.2 0.0 Ik 48 * * % 78 1011.3
3 277 0.0 EEE 48 * K ok 79 1011.3
4 29.0 0.0 B 40 * * % 81 1011.1
5 26.9 10 = 71 * * % 92 1011.4
6 2738 0.0 R R 70 * * % 82 1011.6
7 28.6 0.0 BER 6.1 * * % 80 1011.6
8 30.1 0.0 EED 54 * K ok 77 1011.3
9 311 0.0 Sk 47 * * % 74 1011.4
10 313 0.0 B 44 * * % 71 1011.0
11 30.4 0.0 Ik 41 * K ok 76 1010.8
12 322 0.0 B 33 * * % 67 1010.4
13 323 0.0 B 42 * K ok 66 1009.5
14 321 0.0 B R 28 * K ok 66 1009.2
15 321 0.0 HER 32 * K ok 67 1008.7
16 327 0.0 B 33 * kK 62 1008.6
17 328 0.0 B R 22 * K ok 64 1008.9
18 313 0.0 B R 21 * K ok 68 1009.2
19 30.2 0.0 HER 25 * K ok 71 1009.9
20 298 0.0 = 32 * * % 74 1010.2
21 298 0.0 = 36 * * % 73 1010.7
27 29.7 0.0 = 38 * k 74 1010.8
23 296 0.0 = 42 * * % 77 1010.7
24 295 0.0 R R 50 * K ok 75 1009.9
H&x A 328 10 71 92 1011.7
B/ 26.9 0.0 21 62 1008.6
HEH 30.2 42 74 1010.5
&3t 10 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 250.5y RARE [Th700 55.2
ATF—A[%. $63.9.25~H26.12.31 DHARZ M ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
ER2946H24H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 293 0.0 RE R 47 * K ok 78 1009.3
2 29.2 0.0 E 43 * K ok 77 1008.9
3 29.1 0.0 RS 46 * K ok 79 1008.6
4 29.1 0.0 B 55 * K ok 77 1008.6
5 29.0 0.0 Sk 39 * K ok 82 1008.9
6 29.4 0.0 Sk 51 * K ok 69 1009.3
7 30.7 0.0 B 32 * K ok 71 1009.8
8 30.0 0.0 b 51 * K ok 77 1009.6
9 323 0.0 EED 34 * K ok 63 1009.8
10 326 0.0 B R 21 * K ok 65 1009.8
11 322 0.0 BER 2.7 * K ok 66 1009.5
12 321 0.0 EE 2.9 * K ok 67 1008.9
13 325 0.0 HER 34 * K ok 65 1008.6
14 321 0.0 EE 2.7 * K ok 67 1008.3
15 326 0.0 = 20 * K ok 62 1008.1
16 320 0.0 = 24 * K ok 63 1008.0
17 322 0.0 E 25 * K ok 63 1008.0
18 314 0.0 = 23 * K ok 66 1008.1
19 29.9 0.0 = 36 * K ok 75 1008.7
20 29.9 0.0 R R 34 * K ok 73 1009.2
21 30.0 0.0 B R 35 * K ok 72 1009.8
22 29.9 0.0 B R 23 * * % 72 1010.4
23 295 0.0 B R 21 * * % 73 1010.4
24 29.7 0.0 = 20 * * % 74 1010.4
H&x A 326 0.0 55 82 1010.4
B/ 29.0 0.0 20 62 1008.0
EERS] 30.7 33 71 1009.1
&3t 0.0 *okok
BEEEAT—4
== |ERD H °C = e S H °C
R XU Hjei 36.1 REXE Hzfz.i 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 250.5y RARE [Th700 55.2
ATF—A[%. $63.9.25~H26.12.31 DHARZ M ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
2946 H25H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 29.4 0.0 RE R 25 * % % 77 1010.1
2 293 0.0 E 20 * kK 75 1009.3
3 293 0.0 BER 22 * k 77 1009.2
4 29.1 0.0 E 26 * K ok 78 1009.0
5 29.1 0.0 BER 24 * k 78 1009.3
6 295 0.0 = 24 * kK 73 1009.6
7 29.9 0.0 = 2.7 * K ok 74 1009.8
8 30.2 0.0 E 25 * kK 73 1009.8
9 306 0.0 BER 35 * k 73 1009.6
10 30.9 0.0 = 33 * kK 70 1009.6
11 311 0.0 E 34 * k 70 1009.6
12 314 0.0 EE 44 * kK 68 1009.3
13 30.4 0.0 B 8.8 * k 73 1008.7
14 311 0.0 B 4.6 * K ok 68 1008.4
15 323 0.0 B R 28 * k 64 1008.1
16 3138 0.0 EE 28 * kK 68 1008.0
17 316 0.0 HER 34 * K ok 68 1008.1
18 29.9 0.0 = 39 * k 73 1008.4
19 30.0 0.0 = 2.7 * * 75 1009.2
20 29.9 0.0 = 23 * k 73 1009.8
21 29.9 0.0 = 2.7 * * % 74 1010.4
22 29.4 0.0 = 24 * * % 77 1011.1
23 296 0.0 = 38 * * % 79 1011.1
24 272 15 R R 33 * * % 87 1010.8
Hmx KX 32.3 15 8.8 87 1011.1
B/ 272 0.0 20 64 1008.0
EERS] 30.1 32 74 1009.4
&3t 15 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 250.5y RARE [Th700 55.2
ATF—A[%. $63.9.25~H26.12.31 DHARZ M ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
2946 H26H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 28.2 0.5 RE R 25 * % % 81 1010.2
2 28.7 0.0 = 23 * * % 78 1010.1
3 289 0.0 = 35 * K ok 81 1009.6
4 289 0.0 = 37 * K ok 82 1009.8
5 28.7 0.0 R R 37 * K ok 84 1009.5
6 295 0.0 = 42 * K ok 78 1009.8
7 30.0 0.0 E 59 * * % 73 1010.4
8 29.9 0.0 EED 65 * * % 78 1010.8
9 305 0.0 Sk 73 * * % 74 1010.7
10 305 0.0 B R 6.7 * * % 76 1010.4
11 315 0.0 BER 6.9 * * % 63 1010.7
12 313 0.0 B 6.7 * * % 72 1010.2
13 29.7 0.0 B R 38 * k 84 1009.5
14 295 0.0 B 6.7 * K ok 68 1009.3
15 29.0 0.0 B 79 * K ok 78 1009.3
16 30.2 0.0 Ik 39 * kK 69 1009.8
17 315 0.0 B 22 * K ok 69 1009.8
18 30.2 0.0 B 41 * K ok 72 1009.8
19 28.0 0.5 = 16 * * % 80 1010.5
20 2738 0.0 RER 34 * * % 84 1011.1
21 2738 0.0 7| 0.0 * * % 85 1011.3
22 28.1 0.0 It 12 * * % 83 1011.6
23 285 0.0 it 10 * * % 81 1011.6
24 283 0.0 It 2.7 * * % 82 1011.0
H&x A 315 05 7.9 85 1011.6
B/ 2738 0.0 0.0 63 1009.3
HEH 29.4 4.1 77 1010.3
&3t 10 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 250.5y RARE [Th700 55.2
ATF—A[%. $63.9.25~H26.12.31 DHARZ M ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
2956 H27H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 279 0.0 & 32 * % % 79 1011.0
2 28.1 0.0 it 18 * * % 84 1010.1
3 29.0 0.0 b= 22 * * % 79 1010.1
4 29.4 0.0 = 51 * K ok 75 1009.9
5 285 0.0 = 55 * * % 80 1010.4
6 28.4 0.0 = 45 * K ok 77 1011.3
7 28.4 0.0 E 54 * * % 80 1011.3
8 275 0.0 = 58 * * % 81 1011.7
9 272 05 = 75 * * % 82 1011.9
10 26.7 10 = 51 * * % 85 1011.6
11 276 0.0 = 58 * * % 82 1010.8
12 29.0 0.0 = 55 * * % 78 1010.7
13 241 35 B 145 * * % 96 1011.3
14 256 25 B R 39 * * % 91 1011.3
15 25.1 15 HER 77 * k% 94 1010.7
16 258 0.0 EE 24 * * % 84 1010.5
17 26.2 15 ] 2.9 * k% 87 1010.7
18 25.9 0.0 R R 36 * * % 88 1010.8
19 265 0.0 = 26 * * % 83 1011.6
20 26.7 0.0 = 36 * * % 85 1011.6
21 272 0.0 R R 2.9 * * % 79 1011.6
22 275 0.0 = 32 * * % 79 1011.7
23 27.9 0.0 = 38 * * % 79 1011.4
24 28.0 0.0 = 41 * * % 78 1011.1
H&x A 29.4 35 145 96 1011.9
B/ 241 0.0 18 75 1009.9
EERS] 273 4.7 83 1011.0
&3t 10.5 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 250.5y RARE [Th700 55.2
ATF—A[%. $63.9.25~H26.12.31 DHARZ M ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
2946 H28H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 28.2 0.0 = 55 * % % 82 1010.8
2 28.1 0.0 = 5.4 * * % 87 1010.7
3 28.6 0.0 = 6.1 * k 87 1009.9
4 289 0.0 R R 70 * K ok 82 1009.8
5 285 0.0 BER 84 * * % 84 1010.2
6 29.1 0.0 E 8.2 * * % 82 1010.4
7 29.8 0.0 BER 95 * * % 80 1011.0
8 29.2 10 B 8.1 * * % 82 1011.4
9 303 15 B 97 * * % 77 1011.4
10 30.7 0.0 B 95 * * % 72 1011.6
11 311 0.0 B 81 * * % 73 1011.9
12 312 0.0 B 77 * * % 72 1011.6
13 30.7 0.0 B 6.6 * * % 76 1011.7
14 31.7 0.0 B R 56 * kK 72 1011.3
15 3138 0.0 HER 6.7 * k 71 1010.8
16 314 0.0 EE 56 * * % 72 1010.7
17 311 0.0 HER 6.8 * k% 73 1010.7
18 305 0.0 B R 46 * * % 75 1011.6
19 30.0 0.0 HER 6.3 * * % 78 1011.6
20 29.7 0.0 B R 5.4 * * % 81 1012.2
21 29.7 0.0 B R 56 * k 79 1012.5
22 29.7 0.0 B R 6.5 * * % 80 1012.8
23 29.4 0.0 B R 6.7 * k 79 1012.8
24 29.4 0.0 B R 75 * * % 77 1012.2
Hmx KX 31.8 15 9.7 87 1012.8
B/ 28.1 0.0 4.6 71 1009.8
EERS] 30.0 7.0 78 1011.3
&3t 25 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 250.5y RARE [Th700 55.2
ATF—A[%. $63.9.25~H26.12.31 DHARZ M ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 [ 4R1E)
t#g:20F25% HE:136E04%
2946 H29H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 293 0.0 RE R 70 * K ok 77 1011.9
2 293 0.0 E 48 * * % 76 1011.6
3 29.2 0.0 RS 46 * K ok 77 1011.3
4 29.0 0.0 = 47 * * % 81 1011.4
5 28.0 05 RilE 72 * * % 82 1011.4
6 28.7 0.0 R E 39 * * % 83 1011.9
7 293 0.0 = 4.8 * K ok 71 1011.9
8 29.8 0.0 = 34 * * % 76 1012.2
9 303 0.0 = 52 * K ok 71 1012.3
10 303 0.0 = 55 * * % 73 1012.0
11 306 0.0 = 39 * * % 73 1011.9
12 311 0.0 = 36 * * % 73 1011.9
13 29.8 05 E 39 * * % 75 1011.7
14 313 0.0 = 35 * * % 72 1011.4
15 313 0.0 = 44 * k% 72 1011.1
16 30.9 0.0 = 53 * * % 73 1011.1
17 30.4 0.0 E 34 * k% 73 1011.0
18 29.9 0.0 = 59 * k 79 1011.3
19 29.8 0.0 = 59 * * % 77 1011.4
20 296 0.0 = 48 * * % 80 1011.9
21 29.4 0.0 = 50 * * % 79 1012.2
22 29.4 0.0 = 5.4 * * % 78 1012.6
23 289 0.0 = 51 * K ok 76 1012.5
24 289 0.0 = 48 * * % 81 1012.0
H&x A 313 05 72 83 1012.6
B/ 28.0 0.0 34 71 1011.0
HEH 29.8 4.8 76 1011.7
&3t 10 *okok
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 250.5y RARE [Th700 55.2
ATF—A[%. $63.9.25~H26.12.31 DHARZ M ZIZLTLVET,




HB/BEEFF/MUR)SEREBAT—4 (4 1E]
t#g:20F25% HE:136E04%
2946 H30H
Bl Kim R= JEL[F] JERE H BE B R BE KT
i °C mm 165 4iL m./'s h % hPa
1 28.7 0.0 = 46 * K ok 76 1011.9
2 2738 0.0 = 50 * * % 78 1011.3
3 276 0.0 = 33 * * % 79 1011.0
4 283 0.0 = 26 * * % 76 1011.1
5 285 0.0 = 32 * * % 80 1011.4
6 28.7 0.0 = 28 * * % 80 1011.6
7 29.1 0.0 43 * * % 74 1011.6
8 289 0.0 it 55 * * % 78 1011.6
9 29.0 0.0 it 74 * * % 79 1011.1
10 28.7 0.0 it 8.0 * * % 82 1011.0
11 29.9 0.0 = 76 * * % 71 1011.0
12 303 0.0 = 73 * * % 71 1011.1
13 30.7 0.0 = 65 * * % 73 1010.7
14 30.1 0.0 = 58 * * % 75 1010.2
15 29.7 0.0 = 58 * k% 76 1010.1
16 30.0 0.0 = 73 * K ok 77 1009.8
17 29.9 0.0 = 6.6 * k% 76 1010.2
18 29.7 0.0 = 6.0 * * % 79 1011.0
19 25.9 10 E 79 * * % 83 1011.9
20 273 20 = 5.7 * * % 84 1011.6
21 26.8 0.0 B 75 * * % 84 1012.0
22 26.8 0.0 B 38 * * % 86 1012.3
23 274 0.0 Sk 48 * * % 83 1012.2
24 277 0.0 B 23 * * % 86 1011.3
H&x A 30.7 20 8.0 86 1012.3
B/ 25.9 0.0 23 71 1009.8
H¥E15 28.6 55 79 1011.2
a5t 30 kK
BEEEAT—4
== |ERREAH °C o e HSEEAH °C
REXE 1365 36.1 RESE 50247 17.7
e ) 10245 RERE 700 930.1
= =|EFEEFB] mm/da = =« |EEFAH m/s
RRBMET 57525 250.5y RARE [Th700 55.2
ATF—A[%. $63.9.25~H26.12.31 DHARZ M ZIZLTLVET,




